041-012( 546-2) (1/2)

cm
10|20
10(20|30
o 10 20 30 40 50 60
E 0.60 0.6 =
= AYAYAYAYAY -
E \VAVAVAVAY] =
AN
(VAVAVAVAY] 1115 | ? 1y ? =
AN
\VAVAVAVAY] 1416 [14]34) 4.4 =
AVAYAVAWAY 1.49 =
A\YAVAVAVAY —
IAYAYAYAYAY =
\VAVAVAVAY] 2.15 ? —
AN =
(VAVAVAVAY] 2022 |3]| ¢ E
AN 2.45 =
(VAVAVAVAY] =
NN -
(VAVAVAYAY/ 3.15 u =
IAYAYAYAWAY 1 / —
(VAVAVAVAY] 3l alals] 1 =
AN 4
(VAVAVAVAY] 3.45 4
AN =
(VAVAVAVAY] 12
NAAN N 4.60 [4-15] 7 3
A\YAVAVAVAY 4 4 4 30 12 —
IAYAYAYAYAY -
A\YAVAVAVAV 4.45 —
AN = =
(VAVAVAVAY] =
NNANN 5.15 E Y 3 ]
(VAVAVAVAY] =
5.40 4.8 8 [12] 1232 5.4 =
5.47 =
6.15 5 =
7 =
1l2]2]3]| ¢4 =
6.45 =
7.15 6 =
|7.15] 6 E
2122 |3]| ¢ =
7.45 =
8.15 5 =
|8.15 | 5 3
1022 ]|3]| ¢4 =
8.45 =
9.20 3.8 9.15 1/7
""" 4158 |3/| 17
9.45
9.90 5
10.15 9 =
|10.15] 9 E
33 |3]|3] ¢ =
10.45 4
. =
11.15 y =
33 |3]|3] ¢ =
150 11.45] =
T T T —
COLLT =
CECCT T 12.15' 11 —
crereee T — /
crrreTe 3falals]| 1
T T T 12.45 —]
TETCT =
T T T -
TrrTrCr T
R & 13.15 1/2
MRV 4| a|als]| 12 =
13.60] 2.19°°CCY Y 13.45 I 3
9 |50 —
14.15 N =
2120 | 6 | 26 |57.7 =
14,41 =
""" 15.15 3/3 =
""" 101112 [30] 33 =
----- 15.45 =
..... 0 =
BRI 16.15 / =
""" 30| 20 20| 74 =
..... 16.35 =
..... 17.15 3/6 ;
..... 11]13]12 (30 34 =
17.45 =
18.15 32 —

18.40 12 13| 7 [30] 39

18.45
19.15! 24
| /
417 |13[30] 24
19.45

29

N~
[IIRNENEN

19.30)

N
S
s
&
NN
~
@
=3
Sy

17

17 50 =
/

~
e
ERS
Vd



N
=

041-012( 546-2) (2/2)

N
N

_____ 2 L1 |55.4
20.32 E
..... 17 50 =
SO 21.15 / / =
..... ]335 15 | 100 - 3
21.50 2.29 -+ - 4 7130 3
05059 © =
07070 >0 3
22.29 0.78° 0O 12215 59 10 | 150 —N E
2.2 3




